
Math 490 Quiz #7 Tuesday 6 November 2018

Name: Score (Out of 5 points):

1. (2 points) Let X = {0, 1, 2} be the topological space with the topology

T = {∅, {0}, {0, 1}, {0, 1, 2}}.

Let (an)n∈N be the constant sequence 1, 1, 1, 1, · · · . List all elements x ∈ X such that (an)n∈N
converges to x. No justification necessary.

2. (3 points) Let (X, TX) and (Y, TY ) be topological spaces, and let f : X → Y be a continuous
map. Suppose that (an)n∈N is a sequence in X that converges to a point a∞ ∈ X. Show that

the sequence
(
f(an)

)
n∈N

in Y converges to the point f(a∞) ∈ Y .
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